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Q1.
forgaafosfada et ue fadre shifad-

1. C3.C.CWh. & dgd db 3MUatt efes A T THT GAdT3H b1 A TBdaH 0.75%

do gl uTd e Iohd 2l
o, Blov] TH ¢4l 3Tl & dgd dbald db, aTfuIfod s dobl ol Udfesd ¢dl 62

Ue ctafafer & fosd erel Iucseel dHerdT gl
3. TIIICE Blovl T 2ul 3ifuderel faferse a7 | ugitd deesdr gfelfyd dea &
fosd oo dop gTeT daTfosd glafaferas 2ul aifuderd gl

3Uh A & Dlol-d B dAET 82
1. B 1312 2
o, PIB 230 3
3. PdB 130 3

4. 3Th Aafil

The correct answer is: 4

Solution:
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3de: (d)
T .

« BIoJT TH Ul 3iUSereT (LTRO) & d&d dheld b, aTfuifdas dbl ol
3ol HUTfHb fHSTST (Collateral Matching) & fosd UIfosd ¢Ul g2 Ue
grafafd & fod (1-3 ) &6l IS BderdT gl

. fafed g b T TUw. @ulde/ Raef eul 3e) & dgd dab 3t e
HIIT dAT HHT ST A3 (NDTLs) hT DA 0.75% db &l UTtd He
dbd I

 TIICE ®lavl S eul 3ifucersl (TLTRO) faferse 87 # gt decsdl
Al Id Beal &b fosd floTd d'ob gTer darfesd atdaprfeses 2al
UfedaT®el (LTRO) &

=8 UbTe, IuLh HAft Hefel FE 8, 3id: fAdhed (d) #El IAe &

Q2.

TATIN AT S8 (Accommodative Stance) &b &G A fordeifosfiad s efell ue fadre
HIfAA-

1. HoTg db 3refeaeRll & g1 TYfd Telat &b f5d SAHaTd G2l ol b DHedl gl
2. HeIT db TP 3HTffh fRIfITT B edTel A T b e ofifdard g2l bl gaT IT
el qohdl gl

3.5 dgd Dbald dab IT al AAITd &2l bl & T&dl & aT G2l A fes Hedl gl

I0Seh A @ BIoT-AT/A Berel T /82
1. PIB 1
o, PIB 230 3
3. HdS 3
4. PTG 132 3

The correct answer is: 1

Solution:

3d¢: (a)
T
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o TS A, Bt db of dadl HeTethifd bl b el doT f[AdhTd Bl
FaTdT ot o fosd 3{Uel sTdleldd Alfech oftfd A AATAAG S
ATl gEel o1 forufy fosar gl

o TATTIAT W (Accommodative Stance) b 31'd~’lﬂd, G TAR G
srefegae & g1 3Yfd geTel & fo5d SAifdIrd gel ol b hedT &l

o TATTd: 58 3fefcgaen & et o1 fedfd & 3qeTar 1T 2|

e dc& &3 (Neutral stance)% 3idvfd BT db ATID 3Tl b
fRIfdTl B Tl A T b e A1fdITd G2l bl g6l IT el TdhdT &l
@EWQEWH—&’ 3IUGITE UTcl & oTd JgTethifd i ge feae
gidi gl

S BT, BT 1 TG 8, Ao Bl 2 3 3 IHd &l 3d: fAhd e (a)
T I Bl

Q3.

TefUd sl b Ao A foldaifosfid P efatl ue fadre dhifad-

1. Jg Uf ¥ §91Tes g 3fifSen &bt ureufed ool g, ford ue &t glarel ue fafad
BT ATaT B

2. 3fSelM A UE HHT AW HAUSTT dIT UL SIS A eld TUSTT Ue 3Mefed gl
3. 54 [AIAb o1 A YT fdcs 9N o1 ST fasdT oiTdT &l

IUeh A & BIoT-AT/A Hesal dAel g/8?
1. HadB 13T 2
2. Hhd® 3

3. Ham 23 3
4. 39 b Haftl

The correct answer is: 2

Solution:

3de: (b)
7T .
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o BT 1A, ULTTHAT o Tch BTADH b Glelal ‘Uefdad Ufar o1
3cTgeur feari

o UcfI7 ag RIAs el g, fAd us & eobs e fAfad fasar wrar g

o JE RITem®T UfYd d91Tes 3iie 3iifsen &Y ureul’ss fAadm e g

o TITS A Tg USULT BIA TS (BIBHTAT A) B MIAUTH dhied g,
forardhT oftar 3ifdes aifch T STt &1

o 3fifSen & Ig yduer Yt & 3meure dbfed g, ol g urerfore warsi
WGH;T@H%IHEﬁeTGrM@adldM IToolTel 3iT aWTd AUSTd &
gfed gl

o 5 UTABGT A UTHTAh 2911 T T fadT AATdT 8|

S UBIE, BT 1 3T 2 A T &, TTafd Bl 3 A&l 81 3(d: faded (b)
el 3ae gl

Q4.
gor&yTe fagig fohd erea & dafad g2

1. HAA
o, SITITS
3. AT

4. §ITH

The correct answer is: 1

Solution:

3de: (a)
TET .

- faféer sfuferaferss Yemerel g1el af-2ruied & qfe fobd oirel &b faglel
A 3AH D JISHTC H 28 TToldel, 1894 D1 fbdTall o fdgig e fedT,
@ eraaTe fAgig & ST & ATelT JTdT &l

o foBaTeTi ger fosdT 1T IE fagig sifgeras derm slaalfads o, fdsq
fafeeraeahie of s GRrGIg ot TSTT &t T HolT of fadiel e T8
folgc T aITall Ue IMedtardl il

S UBTE, [Ah T (a) AL 3T &
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Q5.

ACIAT AIACTT b i of A fordeifosfard wherstl ue faare Hifd-

1. ASIH HETHT H1 RIS I 1915 F T TS|
2. A3 Uf Y SITes BT Gl T I8T 3Hopefad HIfd HHASTT &l

3. ACIHT AT A YT dei ufLyeft §91Tes elofl 3i1e &b & ed enfdres gl
3T h A A Hlol-d Bl Tl &2

1. PaB 130T 3

2. a1 3¢ 2

3. Bdw 2 30IT 3

4. 39 b Haftl

The correct answer is: 4

Solution:

3de: (d)
T .

g1 g, UfH §91Tes & Teb Jod1 bl g, fobd TiTal bl cdehe YgT ST
dIACTT geere g1 fafed g fdb g 23l bl ety I1g it grer &
T STt 2l

HSIHT HAIAGTT A FIMeS HIHAT &b Glell 312 B & efes gl

g AT TG (3fofgfrd ATfd) Ufddre & Th dqd gfddg
BTh §T2T 1870 b Geldh & e[& fdhd T eMfHeh sfigicsal & Tel &, ot
T §91Te3 b ABTSSIINT & e ferd ol

HEIHT AGTHY T TRATITT T 1915 A s &

HE I UfYH ST b1 gafel STddl 981 icleffd AIfd HACTT g1 eTod
A S THGTT & IAAGTATIN hT ST I3 17% &

ACHT AAGT TUT & SR dT AT, 2003 H & elersT dbi T
¢ TET AT S b UTdeTsTl of ereuITfefgl o fosd STTaTféshdr urd
heall Hfedhes ol ST Tl

8 UbTe, IuLh HAft Hefel A &1 31d: fadhed (d) Tl I &l
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